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Exercice 1
A=25-(8—=3)+1
A=25-5+1
A=20+1

A=21
B=25-8-(3+1)

B=25-8-4
B=17-4
B=13

C=25-(8—=3+1)

C=25-(5+1)
C=25-6

c=19
D=18—[4 X (5=3) + 2]
D=18-(4x2+2)
D=18-(8+2)
D=18-10

D=8
E=24+[8-(3+1)]

E=24+(8-4)
E=24+4
E=6

F=[2+0,1x(5+3)]+ 4
F=(2+0,1x8)+4
F=(2+0,8)+4
F=2,8+4
F=0,7
Exercice 2
5
= =8+5+4
8+4 8+5
17-15 _ 17-15)+ 3+2)
3+2

1771?5 +2=17-15+ 3+2

8 _ 8+ (5+4)
5 + 4
17x 12X4 o8

=17x(15%x4)+ (3—-2)+2x8

15+4
13-3

=(15+4)+ (13-3)-0,3x10

-0,3x10

Exercice 3

81
A=—/—x5-1
9

A=9x5-1
A=45-1
A=44

__455
2x3-1

g 45.5

Exercice 4

4x(2+9) =44
(15-3)x2=24
(5+5)%(5-5)=0

Rx5-2)]x@4+
1)=30

Exercice 5

10
A=15+—
5

A=15+2

A=17
B=12,2-2,2x%x5
B=12,2-11
B=1,2

=99 _
3

C=33-31

C 3,1

C=0,2

~
N

’

D=9,2-

®© o

D=9,2-0,
D=8,4

36+09
10
A5
10
G=45

Fiche 2 Priorités avec parenthéses CORREC

=27_
2 X3
27

c=<L_1
6

C=45-1
C=3,5
17 -5
3
12

D==242
3

D=4+2
D=6

D= +2

15x4
3-2

E=7xg?+2x8

E=7x +2x%x8

E=7x60+2x8
E=420+16
E=436

4x3-(5+2)=5
(8—3)x(6+4)=50
(12+4x7)+2=20

14x(44+7)+2=77




